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[—2.6, —1.8]
[—1.8, —1.35]
[—1.35, —0.9]
[—0.9, —0.45]
[—0.45, 0]
[0,0.45]
[0.45,0.9]
[0.9,1.35]
[1.35,1.8]
[1.8,2.6]

(3.154 £ 0.061 £+ 0.171) x10~2
0.145 + 0.001 =+ 0.004
0.248 + 0.002 £ 0.005
0.314 + 0.003 £ 0.006
0.343 + 0.003 + 0.01
0.346 + 0.003 £ 0.011

0.32 £ 0.003 + 0.01
0.244 + 0.002 £ 0.005
0.146 + 0.001 £ 0.005

(3.31 + 0.06 + 0.144) x 1072

0.356 £ 0.007 = 0.034
1.643 £ 0.016 = 0.11
2.806 = 0.027 = 0.176
3.548 £ 0.032 + 0.228
3.878 £ 0.034 + 0.248
3.913 £ 0.034 = 0.273
3.622 £ 0.031 £ 0.235
2.753 £ 0.025 £ 0.178
1.655 £ 0.016 &= 0.12
0.374 £+ 0.007 £ 0.031



